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QUESTION 1

Why does cloud computing shift capital cost to variable cost? 

A. Cloud computing is more cost-efficient 

B. IT assets are not owned by the customer 

C. Servers are better utilized 

D. Staff is no longer hired by the customer 

Correct Answer: B 

 

QUESTION 2

A private cloud is defined as: 

A. a deployment model that uses an external cloud provider to provide host application services that are Internet
accessible. 

B. a deployment model that partners with other industry related companies to provide infrastructure services. 

C. a deployment model that uses virtualization technologies to provide infrastructure on demand within its network. 

D. a deployment model that uses an external cloud provider to provide host infrastructure services that are Internet
accessible. 

Correct Answer: C 

 

QUESTION 3

Which of the following companies would BEST benefit from moving to a cloud service? 

A. A retail company that has a history of peaks and troughs throughout the year with its online shopping application. 

B. A family business that does not have any IT applications, but runs off manual processes and good customer service. 

C. A financial services company that is having a number of security issues with its customer internet banking platform. 

D. An insurance company that has a mature, low cost and efficient IT infrastructure that does not have significant
change. 

Correct Answer: A 

 

QUESTION 4

How can the internal IT department successfully react to cloud computing? 
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A. By becoming an external cloud provider 

B. By becoming an internal cloud provider 

C. By outsourcing all IT services 

D. By solely focusing on security issues 

Correct Answer: B 

 

QUESTION 5

Which of the following virtualization characteristics allows the use of different types of physical servers? 

A. Security 

B. Hardware independence 

C. Scalability 

D. Variable costs 

Correct Answer: B 
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